i
I
T
Tl
P=ai
I

1. ¥4
EHL B & PRER G B B H 2 s
BT AT SCHR AR 0 L T N T4 i e
(& 2 (L] 1 [ S5 Pr)

2. ¥HENRE

1) HEI4 s LT [EE 5T LR
2) JBATHIM 730 HFE H &% 74 45 1H

E 4 9% 3H31H

3) WErEMA

4) EHBNE

-1- EtrEE T R



Q/Elljll
I

¥4 | BE)ISE B IR A GRS IS ER i RWIEH IS
H B AR AR
B E I % i 3 B {7 * 4 %A OB N R
FREHE A BB =X 61, 833, 600
XYL =X 61, 833, 600
BEi Ny s = 61, 833, 600 | P EHFEE g Rk
24 7 A
B =X 2, 308, 056
[R5 = 2, 308, 056
W H B B BERE oy 111,120 | %51 A BhBEERE
1 =
R TR 2 2,196,936 | BRI AR
1 =
VA= 2 Y- ¢
EEFM (2 OMFEMmER<) = 64, 141, 656
Z OJFEAT = 20, 609, 138
— N E B = 45, 629, 206
SRS oy 130, 380, 000

EtrEE T R




